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OPTION-A.

| éaper' . BOT-HG-4016/BOT-RC-4016
V‘ (Plant Anatomy and Embryology)

: : -
1. Answer very briefly : (any sepen) 1x7

e a8 (Rl st )

@
)

(c)
(d)

(e)

What type of endosperm is fou'nd in
rice ? o

- S T 49 TEARES (AR TR 2

Where form the embryo gets its
nutrition ? - :

ST ffe ¥ /@ AW 2

What are secretory tissues ?

PR FARR & 2
What type of fruits do not bear seeds ?
R @R TE G (R A A TS 2

Who proposed ‘histogen theory’ oto
explain shoot optical orgariisation -
e TG WO YR AR (A “TRICe 0

. . . ' . . 'p .
What is the significance of cambium -

PR e & 2
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2.  Write brieﬂ'yr: (any foizr)
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(g) Write the name of tissue that helps
hydrophytes to remain floating ?
T BfE (A R i TR AR sk

e A 2

(h) What is quiescent centre' ?

fmemfe s

() In which tissue stomata are located ?

G (PARY TS (offar apg 9
(ij What is tapetum ? |
Broom & 2

2%4=8
50 e e (Rt sifasy)

. (@) Polyembryony

g

() Double fertilization
(c) Hydathodes

é’onid.



| (d) Annual rings -

wRem
| (e) Casparian strip
- AREE e
(ﬂ " True and false fruits
| o R e T
(g) Phylloclade
T e

(h) Heterofertilization -

3. Answer any three of the following :

5x3=15

oo T 3 Rcreat foftre Ser i ¢
(a) What 1s self-

about the advantages -
dlsadvantages of self-pollination.

FOROIA 1 2 -oRisicam Sormier o

Wmﬁ“msﬁ?%m
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pollination ? Write briefly

(b)

(d)

(e)

(h)

Write briefly on heart wood and sap
wood.

wﬂmw@ﬂmmml

Describe cellular endosperm with neat
dlagram

'Wmmﬁﬁ TS AT awn

Write ‘the d1fference between
meristematic tlssue and permanent
tissue.

ﬂwmmﬁwmmﬁr%ﬂn

Write the dlfference between apom1x13
and parthenocarpy.

aﬂw@smwﬁﬁﬂﬂwm@ﬁw

Write on rmcrosporogenesm and
mlcrogametogenesm

o "1\@"15—"‘;{ I ﬂ\m (?l‘rlﬂgal?l ﬁm %M‘[l
(9

‘Write on cork camblum and vascular
cambium.

wmﬁmmw@ mﬂmﬁmﬁm

Write the tlssues responsible for.

~ providing mechanical strength _
(support) in the higher plants. .

WWW%WW

R feran
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Answer any threeé of the following :

10x3=30

(@) What is megagametogenesis ? Describe

)

in  detail ‘the structure and

development of tetrasporic mature

female gametophyte.

What do you mean by tunica-corpus
theory ? Describe various theories
T-evlating to growth and developm‘erlt
in the stem apex of higher'planfs..

2+8=10

' 'i.i['mmwmﬁs{@.?%ww

TR T e o o R e

LR R

(o)

‘growth in dicotyledon
-neat diagram,

Describe " in detaill‘ abdut ‘secondary
Ous stem with
2+8=10
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(@)

(e)

(9)
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What is apical merisﬂtern' ? Describe
various theories regarding structure,
growth and development of root apex
of flowering plants. 2+8=10 .

g ofee @ o2 Ao Ofer R
SR 15, 3R ke KX A=ACF SiIpia
TSRMATR 361
What is cross-pollination ? What are
various forms of it ? Describe each of
them briefly with examples. ‘
B 2+2+6=10
o3 oAl & 2 T RiSw @ A A5TrR
& » TarmaE CS AfSthl BiE I 34 |

“What are the components of vascular.
_elements ? Describe any one |

component of vascular elements.
' . -2+8=10

HIH TAMER TAIKTR & o2 AR

AW R aff ToAIR 3901 | |

What is meristematic tissue ? How are

they classified ? Write briefly about
them. ’ 2+2+6=10

olE @ & 2 @R (afRemm e 7

T 2 Ao RIS

Cbnui'.



(h) What is permanent tissue ? Descrlbe ' . OPTION-B

. different types of sim le ti rith . '
~neat dlagg?ns e Hissues wi Paper : BOT-HG-4026

2/ 1 R o ? Pag ﬁ]‘:i W W TR ' { Eco_nomf'c Botany and Plant
S ﬁ?fl! : ) | Biotechnology}

1. Answer the following : (any séven} ‘
- ' 1x7=7
TR W e fra s (ﬁrz—mf Afeht)

(a) Who first proposed the concept of |
centre of origin ? ,
AR (TWEA TS qRel AU @
SIRBIREE 2

) R‘ ' B (b) What is the'écientiﬁc name of

' ' ' soybean ?

- 5aRE @@ AN oo

{c) Storage tissue of leguminous'seed is

_ known as - . :
- B EXAISIE| %EQ LT (.?ﬂ*q’ _— |§,51?°f &l
- @l

(d) Glam belongs to which famﬂy ?
R asfni a0l csnrsr«: Wﬂ’* ?
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(@)

‘ (9)
- ()

()

0

Which part of the black pepper plant is
edible ?
T TR (P! CARIS T 2

‘Write the full form of RAPD.

RAPD sjel B! i
What is androgenesis ?
e e

What is mlcropropagatlon ?

TR 2
What is DNA marker ?
DNA ?n?n‘ﬁ &

What is hybridoma technology ?

. ﬁfi@’mﬁqﬁ?% ?

Write briefly on the following : (any four)

2x4=8

Wmewsﬁaﬁﬁf’

{a) Chemlcal constltuent of soybean

WW%@?{
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(b) Economic uses of gram

(c)

(d)

(e)

1]

(g)

h)

,Wwﬁﬁa’r‘mﬁw

Embryo culture
Gl

Reéombinant DNA teChnology

' DNA =f+foa T e

Reverse transcriptase

=St TPifEthe

Morphology of cotton plant‘
TR R AT
Gene therapy

fem fofee

Down syndrome

TG fﬁag‘w

Write short notes on the followmo {any

three)

9x3=15

weTs AP €S 5Y (Ol 4l 8 (Riceteat
fefor)

(@)

Origin and morphology of wheat
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)

Chemical constituents and economic

uses of groundnut

. WWWWGWW

(c)

@

~

Morphology and uses of black pepper

Wwﬁﬁmmﬂ*{i

Processmg of tea

(e)

(9)

Scope | of biotechnology

: Application of embryo culture

TP 2

DNA vﬁhgerprinting

* DNA feormafe:

(h)

ELISA Otechnirque, '

ELISA #fém
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4. Answer any three of the fellowing :
) 10x3=30
weR 2T g oAb el ¢
(a) What is meant by centre of origin ?
' Write in detail Vavilov’s centre of origin
of cultivated plants. :
TeolfR T o 5 q@ ¢ eifeeR IR
TR TR (R AR © il [ zﬂ‘m
-

(o) What are legumes ? Write a general
' account of legumes with  special
reference to gram and soybean

TeEror =7 & ?Wmsﬂrﬁmﬁmﬁ
TR SRS P R fa

(c) Write -the scientific names, families,
parts used and uses of the following :
(i) Clone '
(iiy Cotton
C5 ) W e A, (o, YT T
R AR o ¢
i} =R
(i) AR
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(d) Describe in vitro .pathwaysvof - | (H) Describe the steps involved in DNA

androgenesis. ~ sequencing. Write a no.tej‘ on the
L | : application of DNA sequencing.
KT TR Pl AmfeIE 3 7 |

| | DNA ‘3wt afes EiFmE 3 =
() What.is gel electrophoresis ? Describe | ~ DNA fBprafte 3 AR @2 @i B B -
" the techniques of southern and ' | .

. northern blotting

CWW”_@@% Hﬁ%th
-vfﬁz*nmerﬁrmﬁ @ﬁwacﬁnw.

(/) What are monoclonal antibodies ?
Describe the  basic technology for
“production of momoclonal antxbodxes

WEEE kﬂﬁaﬁ‘ﬁﬁ & ¢ Waee 5=
AR P! TS RERIBR aefrt 31|

() Who invented PCR technique ? What
' are the requirements of - PCR
technique ? Write about  the
application of PCR. 1+247=10

PCR “&f$ (I wikeR #REE ¢ pCR
AT ARPTFTIRR &5 ﬁ- ? PCR 3
IR R B
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